KOLAR Document ID: 1649403

Confidentiality Requested:

Yes No

Kansas Corporation Commission Oil & Gas Conservation Division

Form ACO-1
January 2018
Form must be Typed
Form must be Signed
All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No.:
Name:	Spot Description:
Address 1:	
Address 2:	Feet from North / South Line of Section
City: State: Zip: +	Feet from _ East / _ West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	□NE □NW □SE □SW
CONTRACTOR: License #	GPS Location: Lat:, Long:
Name:	(e.g. xx.xxxxx) (e.gxxx.xxxxx)
Wellsite Geologist:	Datum: NAD27 NAD83 WGS84
Purchaser:	County:
Designate Type of Completion:	Lease Name: Well #:
New Well Re-Entry Workover	Field Name:
	Producing Formation:
☐ Oil ☐ WSW ☐ SWD	Elevation: Ground: Kelly Bushing:
☐ Gas ☐ DH ☐ EOR	Total Vertical Depth: Plug Back Total Depth:
☐ OG ☐ GSW	Amount of Surface Pipe Set and Cemented at: Feet
CM (Coal Bed Methane)	
Cathodic Other (Core, Expl., etc.):	Multiple Stage Cementing Collar Used?
If Workover/Re-entry: Old Well Info as follows:	If yes, show depth set: Feet
Operator:	If Alternate II completion, cement circulated from:
Well Name:	feet depth to:w/sx cmt.
Original Comp. Date: Original Total Depth:	
☐ Deepening ☐ Re-perf. ☐ Conv. to EOR ☐ Conv. to SWD	Drilling Fluid Management Plan
☐ Plug Back ☐ Liner ☐ Conv. to GSW ☐ Conv. to Producer	(Data must be collected from the Reserve Pit)
Described	Chloride content: ppm Fluid volume: bbls
☐ Commingled Permit #:	Dewatering method used:
SWD Permit #:	Location of fluid disposal if hauled offsite:
EOR Permit #:	Location of fluid disposal if flauled offsite.
GSW Permit #:	Operator Name:
	Lease Name: License #:
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R
Recompletion Date Recompletion Date	County: Permit #:

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY						
Confidentiality Requested						
Date:						
Confidential Release Date:						
☐ Wireline Log Received ☐ Drill Stem Tests Received						
Geologist Report / Mud Logs Received						
UIC Distribution						
ALT I II Approved by: Date:						

KOLAR Document ID: 1649403

Page Two

Operator Name: _				Lease Name:			Well #:	
Sec Twp.	S. R.	E	ast West	County:				
	flowing and shu	ut-in pressures, v	vhether shut-in pre	ssure reached st	atic level, hydrosta	tic pressures, bot		val tested, time tool erature, fluid recovery,
Final Radioactivity files must be subm						iled to kcc-well-lo	gs@kcc.ks.gov	v. Digital electronic log
Drill Stem Tests Ta			Yes No			on (Top), Depth ar		Sample
Samples Sent to 0	Geological Surv	/ey	Yes No	Na	me		Тор	Datum
Cores Taken Electric Log Run Geologist Report / List All E. Logs Ru	_		Yes No Yes No Yes No					
		B	CASING eport all strings set-c		New Used	ion, etc.		
Purpose of Strir		Hole illed	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
			ADDITIONAL	CEMENTING / SO	UEEZE RECORD			
Purpose:		epth T Bottom	ype of Cement	# Sacks Used	ed Type and Percent Additives			
Perforate Protect Casi Plug Back T								
Plug Off Zor								
Did you perform a Does the volume Was the hydraulic	of the total base f	fluid of the hydrauli		_	=	No (If No, sk	ip questions 2 an ip question 3) out Page Three	,
Date of first Product Injection:	tion/Injection or R	esumed Production	Producing Meth	nod:	Gas Lift 0	Other (Explain)		
Estimated Production Per 24 Hours	on	Oil Bbls.					Gas-Oil Ratio	Gravity
DISPOS	SITION OF GAS:		N	METHOD OF COMP	LETION:			DN INTERVAL: Bottom
	Sold Used	I on Lease	Open Hole			mmingled mit ACO-4)	Тор	BOROTT
,	,			B.11 B1				
Shots Per Foot	Perforation Top	Perforation Bottom	Bridge Plug Type	Bridge Plug Set At	Acid,	Fracture, Shot, Cer (Amount and Kind	menting Squeeze I of Material Used)	Record
TUBING RECORD:	: Size:	Set	Δ+-	Packer At:				
TODING RECORD:	. 3126.	Set	n.	i donei Al.				

Form	ACO1 - Well Completion
Operator	Sheedy, Charles W. dba Sheedy Energy Production Company
Well Name	CHARLES SHEEDY ETAL 6
Doc ID	1649403

Casing

Purpose Of String	Size Hole Drilled	Size Casing Set	Weight	Setting Depth	Type Of Cement		Type and Percent Additives
Surface	8.625	7	26	42	Class A	8	0
Production	5.875	2.875	6	1508	Class A		400# Penoseal

Elite Cementing & Acidizing of KS, LLC PO Box 92 Eureka, KS 67045



Date	Invoice #
6/15/2022	6469

Bill To

Sheedy Energy Production Co.
709 E. Kansas
Yates Center, KS 66783

Job Date		6/13/2022			
Lease Information					
Sheedy # 1					
County	Woodson				
Foreman		DG			

Customer ID# 1292

			Terms	Net 15
Item	Description	Qty	Rate	Amount
C102	Cement Pump-Longstring	1	1,180.00	1,180.00
C107	Pump Truck Mileage (one way)	25	5.00	125.00
C200	Class A Cement-94# sack	200	18.55	3,710.00T
C206	Gel Bentonite	750	0.30	225.00T
C205	Calcium Chloride	375	0.75	281.25T
C208	Pheno Seal	400	1.55	620.00T
C108A	Ton Mileage (min. charge)	1	390.00	390.00
C113	80 Bbl Vac Truck	3	95.00	285.00
C224	City Water	3,300	0.012	39.60T
C401	2 1/2" Top Rubber Plug	2	35.00	70.00T
C206	Gel Bentonite	250	0.30	75.00T
D101	Discount on Services		-99.00	-99.00
D102	Discount on Materials		-251.05	-251.05T

We appreciate your business!

Phone #	Fax#	E-mail
620-583-5561	620-583-5524	rene@elitecementing.com

Send payment to: Elite Cementing & Acidizing of KS, LLC PO Box 92 Eureka, KS 67045

Subtotal	\$6,650.80
Sales Tax (7.5%)	\$357.74
Total	\$7,008.54
Payments/Credits	\$0.00
Balance Due	\$7,008.54

Farm Acct 7-13-22 #5541 PO Box 92 EUREKA, KS 67045 (620) 583-5561



Cement or Acid Field Report
Ticket No. 6469

Foreman David Gardner

Camp Eureka

Date	Cust. ID#	Lease	& Well Number		Continu	T. 11	-		
		Load	a vvoii rambei		Section	Township	Range	County	State
6-13-22 Customer	1292	Sheed	y *7					Woodson	KS
Customer	_	_	•	Safety	Unit #	Dri	ver	Unit #	Driver
Sheedy C	Energy	Troduction	Company	Meeting	105	Jas	00		
			7	别	113	Bro	ker		
709 E	Kanso	S		BW	144		nnon		
Uity		State	ZIP Code	3					
Vates Cer	iter	KS	66783						
Job Type <u>Lor</u>	gstring	Hole Dep	th _15151		Slurry Vol. :	54 BH	7	ubing 2 7/8"	10 81 611
Casing Depth_			e 57/8"		Slurry Wt			Orill Pipe	TO KE COM
Casing Size & V	Vt		eft in Casing					•	
Displacement_									
Displacement	179 00	Displace	ement PSI <u>500</u>	٥	Bump Plug to	<u>/000</u>	<i>PSI</i> 1	BPM	
Remarks: <u>Sa</u>	fety Me	eting: Rig	up to 27/8 7	Lubine	set @ 1	508' Bra	k ciecu	lation w/ 5	- RhI food
The state of the s		767 / 1657	J DOI WATER	TRACER	- Illixad	200 545	11055 H	(DAMPAT W)	4% /201
2% Caclz,	2" Pheno	seal/sk @	14 4/gel, yier	41.52	= 54 Rh	1 duran	Shut a	hun Wash	+ +
+ lines. 57	tuff 2	pluss Disa	lace plugs +	sea t	11/91/2	Bhl for	1	E Final a	out pump
pressure o	f 500	PST. Bum	plugs to 10	on PSI	1 Wait	2 mis	Release	pressure F	Tant & DI
held. Shut	f tubing	in w/ 0	PSI. Good a	inula	tion @ al	1 times	16-14 0	emestics for	and comme
returns to	surface	= 9 B	be slurry to	pit.	Joh com	plate Rio	dance	comming. 60	LEMEN!
				7		FIELL . NIG	00 po /t .		

Code	Qty or Units	Description of Bradust or Consissa		
	dty or ornits	Description of Product or Services	Unit Price	Total
C102	/	Pump Charge	1180.00	1180.00
C107	25	Mileage	5.00	125.00
				, 25
CZ00	200 SKS	Class A' Cement	18.55	3710.00
C2060	750 4	Ge/ 4%	.30	225.00
C205	375 ⁴	Gc/2 2%	.75	281.25
C208	400 =	Phenosal 24/sx	1.55	620.00
C108H	9.4 Tons	Ton Milage - 25 Miles	m/c	390.00
			,	
0113	3 HRS	80 Bbl Vac Truck	95.00/HR	285.00
C224	3300 Gals	City Water	12.06 /1000	39.60
0.1			,	
C401	2	27/8" Top Rubber Plugs	35.00	70.00
C206	250#	Gel Aush	,30	75.00
	-			
	-			
	-	Thenk You	Sub Total	7,000.85
	-	11 11 11 11	Less 5%	368.87
		7.5 %	Sales Tax	376.56
Authori	zation	July Jitle Swan	Total	7.008.54

INVOICE

WoCo Drilling, LLC

1135 30th RD

Yates Center, KS 66783

620-330-6328

wococat@gmail.com

INVOICE NO. 103

DATE June 21, 2022

TO

Charles Sheedy-dba Sheedy Energy Producti

709 East Kansas

Yates Center, Ks 66783

620-625-3440

QUANTITY DESCRIPTION		UNIT PRICE		LINE TOTAL	
1515.00	Sheedy #6	\$	6.50	S	9,847.50
2 gallons	PolyMud		40.00		80.00
2-7/8"	Pipe Clamp				80.00
`	Setting Surface, mixing and pumping cement		200.00		200.00
8 sacks	Portland Cement		22.00		176.00
2-7/8"	Upset collar 8 round				21.00
1.00	Cutting and welding on top collar				50.00
1.00	2-1/2 10rd weld on collar				62.00

Farm Acct
7-11-22 #5302 6000.00
7-25-22 #5550 4516.50

SUBTOTAL \$ 10,516.50 SALES TAX TOTAL \$ 10,516.50

WoCo Drilling LLC

1135 30th Rd

Yates Center, Kansas 66783

Steve 620-330-6328

Nick 620-228-2320

Operator License # 31613 Charles Sheedy, dba

Sheedy Energy Production Co.

Operator: Charles Sheedy

Address: 709 E Kansas, Yates Center, Ks 66783

Phone: 620-625-3440

Contractor License: 33900

T.D. 1515 Surface Pipe Size: 7"

Kind of Well: Oil

Bite Size:5.875

Surface Depth:42

API# 15-207-29880

Lease: Charles Sheedy etal

Well # 6

Spud Date: 6/3/2022

Completed:6/13/2022

TWP: 25s Location: Sec: 27

R: 14e

1240 from North Line

2040 from East Line

County: Woodson

Drilling Log

		my	Log		•
Strata	From	To	Strata	From	Tò
Soil	0	3	Shale	1099	1104
Clay	3	7	Lime	1104	1116
Lime	7	22	Shale	1116	1123
Shale	22	38	Lime	1123	1128
Lime	38	46	Shale	1128	1149
Shale	46	52	Lime	1149	1154
Lime	52	191	Shale	1154	1160
Shale	191	329	Lime	1160	1170
Lime	329	425	Shale	1170	1177
Shale	425	431	Lime	1177	1183
Lime	431	538	Shale	1183	1199
Shale	538	618	Lime	1199	1200
Lime	618	632	Shale	1200	1204
Shale	632	654	Broken Oil Sand	1204	1209
Lime	654	671	Dark Sand	1209	1213
Shale	671	702	Sandy Shale	1213	1216
Lime	702	740	Shale	1216	1263
Shale	740	748	Lime	1263	1266
Lime	748	801	Blk Shale	1266	1278
Shale	801	804	Shale	1278	1443
Lime	804	840	Oil Sand	1443	1464
Shale	840	983	Muck Shale	1464	1469
Lime	983	988	Sand No Oder	1469	1478
Shale	988	1016	Shale	1478	
Lime	1016	1026	TD 1515	1470	1515
Shale	1026	1095	Ran 2-7/8 pipe	+	1
Lime	1095	1099	Time Pipo		